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1. A patent gives inventors the exclusive right to produce and market a product for a period of time. GCR Company
is a profit-maximizing firm. It has  patent for a unique antispyware computer program called Aspy.

(a) Assume that GCR is making economic profit. Draw a correctly labeled graph and show the
profit-maximizing price and quantity.

(b) Assume that the government imposes a lump-sum tax on GCR.
(i) What will happen to output and market price? Explain.
(i) What will happen to GCR's profits?
(¢) Assume instead that the government grants a per-unit subsidy to GCR for Aspy.
(i) What will happen to output and market price? Explain.
(i) What will happen to GCR's profits?

(d) Now assume that GCR’s patent on Aspy expires. What will happen to GCR’s economic profits in the long
run? Explain.




image2.png
Two competing retail firms, Red Shop and Blue Mart, are studying potential locations for new stores in the
suburbs of a major city. Each firm must choose between a location north of the city and a location south of the
city. The payoff matrix is shown below, with the first entry in each cell indicating Red Shop's daily profit and
the second entry indicating Blue Mart's daily profit. Both firms know all of the information in the payoff matrix.

Blue Mart
North South.
Nerth | 5900, $1.800 $3,000, 53,500
Red Shop
$5,000, $4,000 $1,500, $1,000
South.

(a) If Red Shop chooses a location south of the city, which location is better for Blue Mart? Explain.
(b) 1Is choosing a location to the south of the city a dominant strategy for Red Shop? Explain.





1. g e et o ket et e i G oy
T o e e sy ot P i .
PRy - —

e e
(0 et e vt s o O
[T ————
R ———
© e et e v s e i iy OO Ay
0 Whtwil b ot e sl
[ ———
(6 o e s o Ay e Vit il e b OCK' e el g
preteet

v e RS B Mt i oo e s
L o o e ety s s bt
Tyl i v e ey i e b ot
e BTy S ot e o o oo 02l

R
| st | s 0

6 MR s oo o iy, i ocain et o e M sl
[ ——



